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3 hours Maximum Marks: 70
The question paper is divided into three sections - A,B and C.
Answer the questions as directed under each section.
T8 I UF 3. T SN W AT @usl § [quiford & | RIE @S H [MRYgER F¥Hl @ Ic¥ & |
Section - A
Answer any two questions. Each question carries 15 marks.
=gl a1 Ul & IR ARG | TS UL 15 3fdf FT 2|
Define social problem. Discuss the relationship between social change and social
problems.
FANS FART B GRATT SR | AMEISS IRadd 3R AMIoh GRS & dra Fw -l & = i
P |
What are the implications of the large size and high growth rate of India's population?
IRA & fIeret MR iR S=a SHe e &) & a1 aRem € 2
What are major features of over - urbanization in India?
IRA # 31 TR &1y faeiyarg aam 289
Discuss the nature of and forms of labour unrest in India.
ARA H SH—3AA B UHfd AR FUT BT U DI |
Section - B
Answer any five questions. Each answer should not exceed 100 words. Each question
carries 6 marks.
=2l dfe yedl & IR SINIY | YJH e B IR 100 W&l A fWF 7 8 | TS UH B: Al BT © |
Discuss various legislations for the protection of women labour.
Al SADT B YReT & forg a9 A= B! @ ==l B |
Discuss poverty and its consequences.
FETaT dor S| uRemdEl @ fademr Sifsy |
What is the impact of mass media on crime?
ST AR AT BT IR R R®IT 3R U=l &7
What is dry abuse? How does it differ from addiction?
T3l BT GHUANT T BIAT 87 39 H AR <aT &l ofd H a1 R 8?2
What do you understand by the concept of identity?
UEAM Ol AFEROT ¥ 37T FIT FqASIA 22
Peasant movements in India share a common organization and common ideology. Give
your comments.
IRA H ST fHar sfale gU 99 & 6o 3R RIgid U &1 9| AU 7d Udhe ity |
Describe recent legislative measures on forests.
gl & Gdg H BT DI @ dUD U BT qUA BIFY |
What are the ways to increase agricultural production in a country like India?
9RA O < H Y ITeT Pl o & R WD 87
Section - C
Answer any five questions. Each question carries 2 marks. 5x 2=10

T Ul B SRk ST | UAh T 3T bt BT B

Put a sign of right (v) at the correct answer:
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The main culprit responsible for the increasing the use of intoxicants in society is:
a) Western music or singers

b) Drug traffickers

c) Peddlers of drugs

d) Govt. Policy makers

Ed SR W 8! B e (V) asy

FATST ¥ Teiel Uil & SUNT & 98 & ot I8 wU I QT §—

31) qreareg Wi 9 Th

9) TATRIT BT 3T ATIR HRA dTel

9) SRexd e ANl aF AN U ga1 uga arel

7) RGN AT q1 aTel

Various conventions were held to reduce or eliminate terrorism and one of these
convention was:

a) 1937 convention for the prevention and punishment of
terrorism
b) 1990 law against violence and terrorism

c) Neither is right

d) Both are right

JATARATE BT HH PR B oY TAT $HD IV & forg faf=1 I fby U iR 397 § ¥ §9a o
3 JdddIe & MR U9 &S Favell & oy 1937 &1 AT
g 241 iR affadare & fawg 1990 BT

il BIg I FET TBI7

g ERIRSEI

What wrote the book "Rural sociology in India?

"ERel Ao 39 $iSAT Yo fopwrd foredl o ?

a) [.P. Desai b) A.R.Desai
g, . < T 3R, <ETE

c) R. Ahuja d) K.L. Sharma

In the British period the colonizers introduced-

a) Community ownership on land

b) Only substantial crop cultivation

c) Private ownership in land

d) None of the above

fafesr @1 | AUARe s 7 gweTd di—

3) 9 B AgeTe Ao

) =Aaq At &1 @

9) A @1 ol fewrad

Q) SRIF H Plg el

Who formulated the concept of "Urbanism as a way of life?
a) Durkheim b) Karl Max c) Louis wirth
d) Max Weber

e 7 TR i el &1 Heheu &1 ufare fBar 82

<)) EtCi] 9) BICHTR
|) T ef Q) 99 IR
2
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